F39EPEY I —V—7 AR

g1l #18 |BREFZI| A—L [ 7oz—|FS R[EEE L] | & B8 [FRRER| m—L|7oz—|JS R EER Y
10:00 77 IX |[EEAZ] 77 13:00 =% | vy |pozemm| =%
12:00 B |towir|EEAT] B 15:30 JX 775" | no =z JX
114716 14:.00 | v/77 | == [=Az| vs77 ||10] 6/5 [ 1300 | ¥y | #5T | A | v—v
12:00 NTN | {E)Il |E#EX%| NTN 12:15 | &)1 [ NTN [shER| &)
14:30 | #5T | v [zeExx| T 14:30 [vnvoz| B4R |hEIR| t'm)z
10:00 |v—=>| NTN [E2AI| v—<> 11:00 BiR =% |w=r~s] BB
12:00 =% | B |BRAI| == 13:30 V77 | €' ooz wzme—a| L/77
21 4/17 1400 | &) | 779 [&@2Ax| {&)I 1 6/11 [ 11:00 | 779 | &) | BE 77y
11:00 |€ovsz| L/77 [E2X%| +ovsz 13:30 | NTN | ¥—vv | E& NTN
13:30 JX wiT [mzxs|  ux 13:30 | #T JX |mEsre| T
4/23| 11:.00 | B#R JX JEM E1R 11:00 | ¥=3v | L7 |mme—4] v—3u
13:00 Li7r | =3 |#maE| L7y 13:30 JX BiR |wEr—a JX
3 4/24 18:00 | #T | == [wzss| 9T 12| 6/12 [ 10:00 [€mvsz| &)1 [#szwe| +'oysz
1400 | 77 | NIN | 7R 7Y 12:30 | NTN | 77Y° [#sz#en| NTN
11:00 | &)1 [ #'msr [IRRZ] &) 15:00 | =% | #T [wizwm| ==
11:00 =% | 77V | &i =% 11:00 | L/77 JX  |#masE| Loy
13:30 JX Loy | £k JX 12:00 NTN | £'ovsz | % NTN
414/29] 11:00 | %Nl | T | EJR 1)1 13 6/19 | 1430 | 770 | == | #iF | 77/
13:30 (€¥mvsx| NTN | FERE | £'ov9A 13:00 T | &N | R T
11:00 [ ¥—vv | EiR [sorxz| v-—3v 11:00 BB | y—v | 3FH BB
13:00 L7z | 4N |wazxg| vy 7/3 11:00 | ¥—vv JX B | v
5/1 13:00 | #T | £'ovsr [miTsae| #5T 14:00 =% | NTN | & =%
5 13:00 IX | v | HiE JX 14| 8/7 | 11:.00 | 77 | B4 | BtH 77
15:30 | NTN | =& | #IF NTN 8/14 12:00 | &N | v77 (B BAH| &
8/21] 1300 | &R | 77y |#=mEEt| &iR 14:30 [#oyvyr| #T |[HHEM| vz
1100 | =& [ &) | @ | =% 8/7 | 13:00 DNEEEYIE JX
13:30 [ NTN | L/77 | £F NTN 9/10| 1400 | B# | I | &HA B1R
6| 5/8 | 13:00 |¥—vv| 77Y [soriz] Y—3v |]15 11:00 | v/77 | NIN [ 255 Li77
13:00 |+ovyz| JIX | FER | +avsz 9/11 | 13.00 | 77 | ¥—-vv | #& 77
11:00 [ #0T | B8 [wirws|  wiT 1400 | &) | =% | &H 1)1
5/14| 13.00 | B4R | &)l |®HEV-L] B8 7/10| 11.00 | =% X [FEVH] ==
13:00 [ L/727 | 77Y | &b | /7 1300 | 727 | v/77 | BAH 77
7|5 /15 | _13:00 | NTN T | S NTN 16 o /18 13:00 | #3T | NTN [wszmes| #T
15:30 JX =Z | s JX 11:00 | &)1l | B4 |HBH| &)
15:00 | ¥—vo [+ my)R|s0EAT| Y- 13:30 | +myyz| ¥y—vv |[HHBTH| tavsz
11:00 | B4R | NTN [wiz#em]| B4R 11:00 | v | =% |woxg| v
13:30 | #T | v/77 [mzme| w1 13:30 | Loy | #8T |wozxg| L7y
815/22] 10:30 | 779 | +'ovox | &/ 77 171 9/23 | 11:00 |t'oysx| 77y |HABTH| tovizr
13:00 | =& | y—v | %[ =% 13:30 | &)1 JX |HBH| &N
15:30 | JX | &) | %6 JX 11:00 | NTN | &R | 5 | NTN
11:.00 | L7 | B4R |wossm| Loy 11:.00 | 848 [ w77 | ;&L 518
13:30 | ¥—vv | &N |wexm| Y- 13:00 ST | 7707 |uTeer|  #NT
9|5/29| 13:00 NTN JX HR NTN 18] 9/25 | 13:00 =% | toviz | HIE ==
1030 | 770" | W | @ | o7 15:30 JX NTN | 1% JX
1430 [vmor| =% | FH | ¥aa 14:30 | &)1 | ¥—3v [HB®H] &)




